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. : signed main()
#1nclude<bits/stdc++.h> {

using namespace std; int maxa=0:
——2

#dEflﬁ? int long long int sums=0; // BULSHLER
fa:st[;?t N=1e5+10; cin>>n>>m;

S 8 ) for(int i=1l;i<=n;i++

int n,m,ans; Hans i TE&EF= ( ’ )

k!
? cin>>a[i];
sums += a[i];
§ maxa = max(maxa, a[1]);

}

int 1 = maxa; // ZZF: BATE (RI)DGJEEFIRAME)
int r = sums; // HBLsF: B (BAOEERIRALE)

/! ZH5EE, Bl <= rFH
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/) =N B <= rElE
while(l <= r)

{
i int mid = (1 + r) / 2;
if(check(mid))
{
// SEmida 1T, iREFEHZAEBNE
ans = mid;
? r = mid - 1;
}
else
{
// SEimid a1, FEZALIE
| 1l = mid + 1;
)
}

cout << ans << endl; // HEHEFE

return 0O;
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bool check(int mid)

{

int cnt=0; // FF/AH
int sum=0; // ZFELFIF
for(int i=1l;i<=n;i++ )

{
)/ EZFTTEWAGEE Imid, LITHF)
if(sum + a[i] > mid)
? cnt++;
sum = a[i); // FERASETFTLE
}
else
1 -
sum += a[il; // WASEFE
}
}

[/ BRIV ENXE ], FFEE A Im

return cnt + 1 <= m;
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